

6.5
 ① $\int_D \frac{1}{\sqrt{xy}} dA, D = [0,1] \times [0,1]$

$D_{\eta, \delta} = [\eta, 1] \times [\delta, 1] \quad \begin{matrix} 0 \leq \eta \leq 1 \\ 0 \leq \delta \leq 1 \end{matrix}$

$I_{\eta, \delta} = \left(\int_{\eta}^1 \frac{dx}{\sqrt{x}} \right) \left(\int_{\delta}^1 \frac{dy}{\sqrt{y}} \right) =$

$= 4 \left[\sqrt{x} \right]_{\eta}^1 \left[\sqrt{y} \right]_{\delta}^1 =$

$= 4(1 - \sqrt{\eta})(1 - \sqrt{\delta}) \xrightarrow{(1,1) \rightarrow (0,0)} 4$

d) $\int_0^1 \int_0^{e^y} \log x \, dx \, dy$

$x = e^y, y = \ln x$



$D_{\eta, \delta} = \{ \eta \leq y \leq 1, \delta \leq x \leq e^y \}$

$I_{\eta, \delta} = \int_{\eta}^1 \left(\int_{\delta}^{e^y} \log x \, dx \right) dy =$

$= \int_{\eta}^1 \left[x \log x - x \right]_{\delta}^{e^y} dy = \int_{\eta}^1 \left(e^y y - e^y - \delta y \delta + \delta \right) dy$

-

$$= e - 2e + 5(1 - \log 5) - ne^n + 2e^n - 5(1 - \log 5)n =$$

$$\begin{aligned} \lim_{\delta \rightarrow 0} \delta \log \delta &= \lim_{\delta \rightarrow 0} \frac{\log \delta}{\frac{1}{\delta}} \stackrel{0/0}{=} = \\ &= \lim_{\delta \rightarrow 0} \frac{\frac{1}{\delta}}{-\frac{1}{\delta^2}} = 0 \end{aligned}$$

$$\varphi \times I = -e + 2$$

$$(2) a) D = \{ (x, y) \mid x \geq \alpha, \varphi_1(x) \leq y \leq \varphi_2(x) \}$$

$$D_n = \{ (x, y) \mid \alpha \leq x \leq n, \varphi_1 \leq y \leq \varphi_2 \}$$

$$I = \int_0^\infty \int \varphi(x, y) dx dy = \lim_{n \rightarrow \infty} \int \int_{D_n} \varphi(x, y) dx dy$$

$$b) \int_0^\infty \int_0^1 xy e^{-(x^2+y^2)} dx dy, \quad x \geq 0, \quad 0 \leq y \leq 1$$

$$I_n = \int_0^n \int_0^1 xy e^{-(x^2+y^2)} dx dy =$$

$$= \left(\int_0^n x e^{-x^2} dx \right) \left(\int_0^1 y e^{-y^2} dy \right) =$$

$$= \left[-\frac{e^{-x^2}}{2} \right]_0^n \cdot \left[-\frac{e^{-y^2}}{2} \right]_0^1 =$$

$$= \frac{1}{4} (-e^{-n^2} + 1) (-e^{-1} + 1) =$$

$$\xrightarrow{n \rightarrow \infty} \frac{1}{4} \left(1 - \frac{1}{e}\right)$$

(5) $\int_D \frac{x+y}{x^2+2xy+y^2} dx dy, D = [0,1]^2$

$$D_{m,y} = [m, 1] \times [0, 1]$$

$$I_{m,y} = \int_m^1 \int_0^1 \frac{1}{x+y} dy dx =$$

$$= \int_m^1 \left[\ln(x+y) \right]_{y=0}^{y=1} dx =$$

$$= \int_m^1 \ln(1+x) - \ln(0+x) dx =$$

$$= \int_m^1 \ln(1+x) dx - \int_m^1 \ln(x) dx =$$

$$= \left[(x+1) \ln(x+1) - (x+1) - (x) \ln(x) + (x) \right]_m^1 =$$

$$= 2 \ln 2 - 2 - (1+1) \ln(1+1) + (1) \ln(1) -$$

$$\rightarrow 2 \ln 2.$$

(6) $f \geq 0$ ከገን ቃምባሊሮን ከገን ደረጃው ወይን ጋር

$$f(x, y) \leq g(x, y)$$

ከገን $\iint_D g \, dx \, dy$ ከገን $\iint_D f \, dx \, dy$

$$\iint_D g \, dx \, dy = \lim_{(h, s) \rightarrow (0, 0)} \iint_{D_{h, s}} g \, dx \, dy$$

$$f \leq g$$

$$\iint_{D_{h, s}} f \, dx \, dy \leq \iint_{D_{h, s}} g \, dx \, dy$$

$$\lim_{(h, s) \rightarrow (0, 0)} \iint_{D_{h, s}} f(x, y) \, dx \, dy \leq \iint_D g \, dx \, dy$$

(7) $I = \iint_D \frac{\sin^2(x-y)}{\sqrt{1-x^2-y^2}} \, dx \, dy$, $D = \{x^2 + y^2 \leq 1\}$

ከገን $I \leq \iint_D 1 \, dx \, dy$

$$\frac{\sin^2(x-y)}{\sqrt{1-x^2-y^2}} \leq 1$$

$$\iint_{D(0,1)} \frac{\sin^2(x-y)}{\sqrt{1-x^2-y^2}} dx dy = \iint_{D(0,1)} \frac{dx dy}{\sqrt{1-x^2-y^2}}$$

$$= \int_0^1 \int_0^{\sqrt{1-r^2}} \frac{r}{\sqrt{1-r^2}} d\theta dr = 2\pi \int_0^1 \frac{\sqrt{1-r^2}}{-2} \Big|_0^1 dr$$

$$= -\pi (\sqrt{1-1^2} - 1) =$$

$$= \pi (1 - \sqrt{1-1^2}) \xrightarrow{\delta \rightarrow 1} \pi$$

$$\textcircled{II} \quad I = \iiint_{\omega} \frac{(x^2+y^2+z^2)^{1/4}}{\sqrt{z+(x^2+y^2+z^2)^2}} dx dy dz$$

$$x^2+y^2+z^2 = \alpha^2, \quad x \geq 0, y \geq 0, z \geq 0$$

(сфера ω с $(0,0,0)$)

напрям $\omega_\epsilon = \{ (x,y,z) \mid \epsilon^2 \leq x^2+y^2+z^2 \leq \alpha^2 \}$

Σ φαιπλις

$$I_2 = \int_\epsilon^\alpha \int_0^{\pi/2} \int_0^{\pi/2} \frac{\rho^{5/2} \sin \varphi}{\sqrt{\rho \cos \varphi + \rho^4}} d\varphi d\varphi d\rho =$$

$$= \frac{\pi}{2} \int_\epsilon^\alpha \int_0^{\pi/2} \frac{\rho^{5/2} \sin \varphi}{\sqrt{\rho \cos \varphi + \rho^4}} d\varphi d\rho =$$

$$= \frac{1}{2} \int_{\epsilon}^{\alpha} \left[-2\rho^{3/2} \sqrt{\rho \cos \phi + \rho^4} \right]_{\phi=0}^{\phi=\pi/2} =$$

$$= -n \int_{\epsilon}^{\alpha} \left[-\rho^{3/2} \sqrt{\rho^4} + \rho^{3/2} \sqrt{\rho + \rho^4} \right] d\rho =$$

$$= n \int_{\epsilon}^{\alpha} \left[2\rho^{7/2} - \rho^{3/2} \sqrt{\rho + \rho^4} \right] d\rho =$$

$$= n \left[\frac{\rho^{9/2}}{9/2} \right]_{\epsilon}^{\alpha} - n \int_{\epsilon}^{\alpha} \rho^2 \sqrt{1 + \rho^3} d\rho =$$

$$= \frac{2n}{9} \left[\alpha^{9/2} - \epsilon^{9/2} - n \left[\frac{2}{9} (1 + \rho^3)^{3/2} \right]_{\rho=\epsilon}^{\rho=\alpha} \right]$$

$$= \frac{2n}{9} \left(\alpha^{9/2} - \epsilon^{9/2} - \frac{2n}{9} \left[(1 + \alpha^3)^{3/2} - (1 + \epsilon^3)^{3/2} \right] \right) - \frac{2n}{9} \left[(1 + \alpha^3)^{3/2} - (1 + \epsilon^3)^{3/2} \right]$$

$$= \frac{2n}{9} \left(\alpha^{9/2} - \epsilon^{9/2} - \frac{2n}{9} (1 + \alpha^3)^{3/2} + \frac{2n}{9} (1 + \epsilon^3)^{3/2} \right)$$

$$(x, y, z) \quad , \quad x^2 + y^2 + z^2 \geq 1$$

$$\int_0 \frac{dx dy dz}{(x^2 + y^2 + z^2)^2}$$

$$I_M = \int_{DM} \frac{dx dy dz}{(x^2 + y^2 + z^2)^2}$$

$$\text{one } DM = \{ (x, y, z) \mid 1 \leq x^2 + y^2 + z^2 \leq M^2 \}$$

$$= \int_0^{2\pi} \int_0^\pi \int_1^M \frac{\rho^2 \sin \varphi}{(\rho^2)^2} d\rho d\varphi d\phi =$$

$$= \int_0^{2\pi} \int_1^M \frac{2\pi \sin \varphi}{\rho^2} d\rho d\varphi =$$

$$= 2\pi \left(\int_1^M \frac{d\rho}{\rho^2} \right) \left(\int_0^\pi \sin \varphi d\varphi \right) =$$

$$= 2\pi \left[-\frac{1}{\rho} \right]_{\rho=1}^{\rho=M} \left[-\cos \varphi \right]_{\varphi=0}^{\varphi=\pi} =$$

$$= 2\pi \left(-\frac{1}{M} + 1 \right) (1 + 1) =$$

$$= \frac{4\pi}{M} \left(1 - \frac{1}{M} \right) \xrightarrow{M \rightarrow \infty} 4\pi$$